Find the variable expression for each of the table of values below.
	X
	Y

	1
	2

	2
	4

	3
	6



_____________________________________

	X
	Y

	1
	12

	2
	24

	3
	36



_____________________________________

	X
	Y

	1
	3

	2
	4

	3
	5



____________________________________

	X
	Y

	1
	4

	2
	8

	3
	12



___________________________________

	X
	Y

	1
	19

	2
	20

	3
	21



________________________________


	X
	Y

	1
	17

	2
	34

	3
	51



___________________________________

	X
	Y

	1
	5

	2
	10

	3
	15



_______________________________________

	X
	Y

	5
	25

	6
	30

	7
	35



_______________________________________

	X
	Y

	1
	8

	2
	16

	3
	24



____________________________________

	X
	Y

	4
	28

	5
	35

	6
	42



____________________________________


	X
	Y

	1
	6

	2
	8

	3
	10



____________________________________

	X
	Y

	1
	10

	2
	14

	3
	18



____________________________________

	X
	Y

	1
	20

	2
	24

	3
	28



_____________________________________


	X
	Y

	1
	5

	2
	8

	3
	11



___________________________________

	X
	Y

	1
	7

	2
	10

	3
	13



________________________________


	X
	Y

	1
	10

	2
	17

	3
	24



____________________________________

	X
	Y

	1
	42

	2
	51

	3
	60



_____________________________________

	X
	Y

	1
	9

	2
	19

	3
	29



____________________________________

	X
	Y

	1
	3

	2
	8

	3
	13



_____________________________________

	X
	Y

	3
	30

	4
	38

	5
	46



___________________________________

[bookmark: _GoBack]If we were to graph each expression on desmos.com, which of the patterns do you think would climb the fastest?
